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30197631|@ninpe U4 Q2 wnith 1900 513000 270
©@ninpe U3 Q2 wnntth 3800 11400 3
Fninpe Ul Q2 hwuwn 200 2000 10
39263200|Fpwukiyuljuiht ghpp Q2 hunn 550 13200 24
30192137|dwnhun ult Q2 huwn 60 9540 159
dwwnhwin Ubuwuthljuljub QZ hwwn 240 1680 7
Uwinhwnh dhontly Q2 wuinuth 350 700 2
30192121-1|qphs Q2 hun 100 38900 389
qphs gkjuyhl Q2 hwuwn 350 3500 10
39263420[wpuy Uks Q2 wntth 350 40600 116
39263410/ wdpuwl thnpp 2 74 wnntth 250 8000 32
wubn Juphsh hwdwp &
30197110{uhohl A uinuh 150 12000
wubin uphsh hwdwnp i
30197110[thnpp Q’z wnith 80 1200
30197232 wpuiquljup Q. hun 150 121500 810
wpugquljup ywuwnhly Qz hun 10
30192125|Uwplp Q7 huun 100 2200 22
Uwplytp gpuunuinuljh Q2 hwwn 450 2250 5
QAswlthy ywplkp .
30192125 [(wyyuilyni) obpuwlwynil Q2 huiwn 700 5600
39263530|ubinuuljur UkS Q2 hwwn 70 4060 58
39263510|ubnuwljuy thnpp Q2 huwn 60 2100 35
39263510|ubinuulju Uhoht Q2 huwn 40 1200 30
30192160|ounphju Q2 hwwn 250 12250 49
22600000|fwtiwp Q2 hwwn 250 3500 14
Puihwip ny opuihl Uu hwiin 3000 15000 5
fFwtiwph pupdhl Q2 huin 950 17100 18
PEnup Wynudubkph hwdwp p
30199420|thnpp Q. hwn 200 800
©Oninp bynudubkph hwdwp o
30199420(uts Q2 hwwn 250 2250
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Pninpe pnudukph hwdwnp 15
Yusnih 76UUx76Ud Q2 hwuwn 400 6000
@nupe upnulutph hudwnp 5
ljysnil 20Ux50UU Q2 hun 250 500
24910000|unuhtid snp Qz hwwn 370 38110 103
30192100|(FEwnhl Qz hwwn 100 3500 35
30197231 |duy; QZ wnnith 2000 638000 319
39292500|Lwtinl Qz huin 350 15050 43
39241210|gpwukiyuiuyht Ujpun Q2 hwwn 450 14850 33
Yuiphy, Uhtsh 20 ppph :
30197320 |hudwp Q2 hwwn 1700 15300
Juphy, 20-50 phpph 2
30197320/ hwdwn Qz huwn 2000 48000
30140000[hwoyhs Ubpkinu Q. hwwn 2700 24300 9
gijuwdnn ghpp 4 hwwn 800 4800 6
TYwljhy Uptsl 40 phpp i
30197300-1|qulkjnt hwdwp Q2 huuwn 2200 30800
Yuljhy Upts 60 phyp )
nuljEint hudwp Q2 hwwn 4000 4000
30234500|k1.4nhs 8GB Q2 huin 3500 3500 1
30234500|k1.4phs 4GB Q2 huwn 2600 5200 2
30199140|jwiw /niquipninp/ Q2 thupkp 5500 27500 5
30192133|Uphy Q2 huwn 150 4650 31
Ernpuyubul /inown 20
30197234|juquny, nkghuwp Q2 huwn 1000 20000
fnpuywuiwuly /pnpk, I
30197233|phkikpny Q2 hwwn 100 16500
Onpuywubul nkqhting Q’z huwn 5
30197120|Yndqud, Ubinwunuwljub Q. winuth 100 1000 10
Undqud, yjumundwuk 6
30197120|qiuhyuikpny Q2 nnuth 350 2100
Quih& Qz wuintth 250 6750 27
Opuwnp /ukd Qz hwuwn 50 50000 1000
Onuwp /thnpp Qz huin 20 40000 2000
Opwp huptwuljuysnih QZ hwwn 15 750 50
nkquly QZ huin 80 960 12
Ulns /Ubs Qz huwn 500 21000 42
Zwdwpwljuhy QZ hwwn 20000 80000 4
Gnunwnuly Q2 hwwn 60000 60000 1
Gnunwhinuwljh oughs QZ hwn 850 850 1
Fnpunupub Q2 hunn 4000 20000 5
Gpuubnuith jpuljuqu 4 huin 4000 20000 5
‘Lnpuinbunn QZ huwn 1000 4000 4
huyind-1 UU hunn 2700 | 3753000 | 1390
Thuynd-2 UU huwn 3200 880000 275
Thuynuh hwyk)Jus UU huiin 500 250000 500
Ujuntdhuljuil 150
wbknkljulp Uu hwwn 500 75000
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J
Qph yndyh pwndhsh
JEpwinpnguub 1
Swnwynipnti Uu huwn 120000 | 120000
Qbnnigdwt hwdwlwpgh
twhiugdduil,
Untinnwddwt b Qz huwn 6800000 | 6800000 1
nbknunpuub
wohuwnwbipbibp
9132000|pkuqht ypkdhnid QZ 1hwp 500 1750000 3500
9132000{pkiightt nhgnyjjup QZ 1hwup 500 11300000 | 22600
nhq. Junthp 5120
9134200|/yunpnulikpny/ Q2 1hwun 470 2406400
9134200|nhq. Juwinkihp Ul 1hinp 380 | 17480000 | 46000
Ubnuduwé quiq Ul fud 200 1000000 5000
Ulnhdphg 92 1hwp 1000 8000 8
3144000(Uwpwnljng 4 huwn 34000 34000 1
3144000{Uwipwnljng FU.L-53 Qz hwwn 34000 34000 1
3144000{Uwpinling FU.L-2705 QZ, huwn 34000 34000 1
Ubudunnn (Fuqk 5
34351200|dwlyithoh) Q2 hunn 37000 | 74000
34351200{Udwnnnnn @U.L-2705 Q2 hwwn 37000 74000 2
Udunnnn/npuljnnp >
34351200(E49UY-Eo2621 Qz huwn 37000 74000
34351200|UJwinnn /9U.L-31029 Qz hwwn 25000 100000 4
34331300 Utyjwpunig /FURL-31029 Qz huin 5000 20000 4
31518100|Unglih jniumipduly Q2 hwwn 14000 28000 2
34913000|Lkjuht Ukhuwithqd Q2  |hwjwpwdni| 65000 65000 1
Unpgbjuluwi Yndnuly k
34322100((2U.2-31029) Q2 hwdwpwéni| 12000 12000
Upghpuljudwt uhunbtidh 1
34321130|dwlidbwn (FUQ-31029) QZ  |hwjwpwdnr| 800 800
349130000| kunp /SU.2-31029 Q2 |hunjupwdni| 20000 | 20000 1
onh thuljub @ 1/2 Q2 hurtn 1200 12000 10
Onh thuljut @ 1 Q2 hwiwn 2800 14000 5
nh thwlwb @ 2 Q2 huwwn 10000 40000 4
Qnh &ynih junnnduly 1d Q.2 hwwn 1100 22000 20
“tnioh ghigninh unpndul Q2 hunn 1700 8500 5
Ltiny uyhwnuly Q2 lig 1300 39000 30
Qniqupubiwlnip 4 hun 35000 70000 2
TFnuil thuljut Q2 hwwn 4000/ 40000 10
Tnwb hwuljub Q. hunn 800| 8000 10
Tnwh bhppht huljut Q2 huiwn 6000| 60000 10
Utlniups duwyuyt
/hqnykin/ Q2 b 300/ 4800 &
Qnnpshpubph hwjupwdne
/qunyyh/ qp [Pwdwewenyt 3 000] 32000 !
Qnpohpubph hwjupwsény
/qujhpup yyniyitiph hwuwpudnt 1
hwdwpwdni/ QZ 8000 8000
Yynis wipnipling-1 QZ hunn 3000/ 3000 1




Yyjnis wipnipiing-2 Q2 hwwn 4000/ 4000 1
Unip& Q2 hwwn 2000 2000 Il
Ygun QZ hwwn 4000/ 4000 1
Upgult Qz hwwn 2500{ 5000 2
Unljunhubp S 74 hwn 10000 10000 1
Snnuwilt phdwlh wuywlh Q2 hwiwn 600 1800 3
Qpuisuh Q2 hutn 300000] 1200000 4
Ej. dwpnuly Q2 huwn 700 14000 20
. Uigunhs Q2 huiwn 700/ 7000 10
k. lupng Q2 hurn 2520 50400 20
Uhjhynt Q2 wnuth 1200/ 6000 5
(FEwnhuk unnnyuly Q2 dbwnnp 380| 30400 80
Qnh sénpwly gugninnyd QZ hwwn 10000/ 100000 10
Snph dnpwl 1/2 QZ huiwn 1500 6000 4
Gnuljgdwl bklwnpng 3 Qz wnntth 4000( 4000 1
Lywgwpwith uhdnl qz hwwn 900{ 9000 10
Uwwlh (wulbkwn) 1dx2d 4 hwwn 15000 45000 3
Lwp wuplylkunh Q2 1hwp 4000/ 40000 10
8kukinn Q7 Ug 56| 28000 500
@hjh pudwly Q2 hun 250/ 5000 20
@hjuhy Q7 hunn 4000 8000 2
Ziniph pudwly Q2 huwn 130] 2600 20
Unwdwi Qz huiwn 250 5000 20
Uthuth upphs Q2 huin 400 40000 100
Utnuih uthnng Q2 huin 2500/ 25000 10
Uthubbikph hwjwpwdnt Q.  [hujwpwudn 2600/ 39000 15
Unipéh puduly Q2  |hwjwpwdne 1400| 4200 3
Uwhwnwljknkth

M qr [Pudwpwdny o600 63000 i
Upnn unhwingujh QZ huin 0 50
Uknp Qz huiwn 1500{ 60000 40
Upphs punhph Q2 huwn 2300| 46000 20
Jvwjwpe uyhunwul QZ hwwn 3000{ 60000 20
Qngung funhwinguhl Q2 huwn 1000{ 10000 10
£). Ludy 100 9w Qz hwwn 150| 19500 130
E1. Ludyy 150 9an Q2 hwwn 300/ 4800 16
Ej. Chijugdw judy 500

dun 9z n 800| 4800 E
Eyntund yuly Y4 hunn 1300| 19500 15
Qtnph LEjnpulwub b 1
juwunkn Qz 1500/ 1500
Cwpwpuuul QZ hwwn 1000{ 5000 5
Chpuujwnpwgnyp Q2 pd 0 32
Onnt puduily Q2 hwwn 100{ 5000 50
E1. Uwpunljng Qz huiwn 100/ 8000 80
2niqupuit Jwpphjnt

uuynilq Q. ha 1000/ 10000 L
Udwl jJwibiwint uynthg Q2 huin 250/ 30000 120
Bdauljuits qihuwiply — 0
/dhuitig. Og/ Y4 50/ 5000




Sniqupub dywpphbjnt

htnnl qQz =2 500{ 5000 =
Od&un dknph Q2 hwwn 280( 90160 322
Lyuwgph thnoh QZ wntth 450| 72000 160
Udwl jJwbwynt hbgnuy-1{ 92 huwn 800| 290400 363
Udwl jJwbuynt hnniy-2 4 1hup 2200{ 11000 5
Udwlikiph othhs /Jughpuy | 32 hwwn 230 13800 60
unquiiuly 9oh QZ hwwn 500 5000 10
unquiwly hwwnulhh QZ hwwn 4500| 22500 5
Zumunwjh thuyun Q. hwwn 3200, 32000 10
Ulbdbnnghl innithny Q2 wintth 200| 40000 200
dwdkih uwhpun Q2 thup 180 10080 56
®noni onnp Q2 hwwn 250| 10000 40
Uwpnnn thnoh /nuijusw Q2 hun 330 32010 97
Uwuwljh jJubiwnt hinnily Q.2 hun 400 14000 35
Sniquipuitth pninp QZ wnntth 100 25000 250
NMnihtphitbwiht punutip| 92 Ubwnp 200 4000 50
Uwwilh 3ud Q2 pu 0 20
Zwig p/wn Q2 g 400 480000 1200
Yupuwg ubkpnigpuijhl Q2 g 4500 675000{ 150
TNwlhp Q. Ug 1800| 288000 160
PpJuubp Q2 g 1200 210000 175
Yupluonn QZ lig 1600 112000 70
QN Qz hun 65 143000| 2200
Uwbdnih Q7 Ug 500 80000 160
Qb (wunpuih) Q7 lig 1500 225000 150
Ubnp Q2 lig 3000  90000] 30
Upphpohly 92 Uq 1700 68000 40
Un twlp Q. g 160 2400 15
Unugub uli phpuip Q2 g 3500 31500 9
Unugu upuhp phpup Q2 g 3000 12000 4
Uli phpuip hunnhljuignp Q2 lig 7000 14000 2
Ujnip p/wn Qz liq 220 17600 80
Cuipwpuyuq Qz g 350 38500, 110
Zjnip phuful QZ 1hwp 300 99000/ 330
Qkjpnil ul QZ g 1700 68000 40
Oy (UEjwuquadju) Y4 g 9000 45000 5
Otp Q2 Jhup 700] 63000 90
8nin hwjwd S 74 g 2000 110000 55
Nuuyy Q. g 500 12500 25
Fph& Q2 g 600/  60000] 100
Qunnhi ghinht Q2 g 320 12800 40
Uhutn Q. lg 1000 30000 30
Uyughwunh QZ liq 300 6000 20
Uwljupni Q2 g 280 8400| 30
TEpuhoky Q2 Uq 280 8400 30
Zwwp q’ Ug 500 35000 70
Lnph hunnhluwiynp Qz g 1000 55000 55




Uwhwnuly dudup QZ g 300 12000 40
Zunudwlwp Y4 g 320 22400 70
Yuip Q2 1hup 200 26000 130
Uhu nwjuiph Q2 g 3000 1350000| 450
Uhu jungh Q2 g 3200/ 128000 40
Uhu hunfh Q2 g 1300/ 325000] 250
Sndwwnh dwsdniy Q2 lg 1000 45000 45
Pugulu Q2 Jhwp 200 600 3
Tuthunt mbpl Q2 g 1000 1500 1,5
Unbbbwn /onlnjun Q2 Lig 2500 150000 60
(@pnL Jupniig (pulijw) QZ g 800 48000 60
Quipnju juibw (putiju) Q2 g 1100 38500/ 35
Uniul (pubilju) Q2 ljq 1600 104000 65
vnwugpws Jup Q2 g 1200 6000 5
Gghuyjinugnpkl (puttju) QZ lig 1100 16500 15
Ynuip Q2 g 1500] 15000 10
Quipunndhy Q2 [be 200 60000| 300
Unfu gynifu QZ lig 300 39000 130
Udpniy Q2 g 250 17500 70
Lnhly Q2 Uq 300 75000/ 250
Yunudp Q. g 200 36000/ 180
Puqnily Q2 lig 250 12500/ 50
Ququp Q2 liq 250 20000 80
Juwpnihq Q2 liq 400 24000 60
Yulwsh jawnp Q2 Iq 2000 160000 80
Uhpg (juwnp) Qz g 250 62500/ 250
Loph YJuitiwy Y4 g 300 18000 60
Unnqu Q2 lg 1000 20000 2
Uwbh lypniyw Q2 g 1000 30000 30
Uhunnp Q2 ljq 2000 6000 3
Fhpun jutiwy Q2 g 300 12000 40
Ubununujup Q2 liq 750| 5062500 6750
Uhowljjuj uniukp 2200
/owuyukp/ Q2 hwuwn 1600| 11520000
Fwiphufulibp Qz, hurtn 4500  2700000] 600
Zwljunpdwl phy Q2 g 1200 960000 800
wn hkphjkuiwht punuip| 92 [Le! 850 42500 50
Enyjurh Q2 Uk 500 7500 15
Enywlh fuwdnun Qz huin 500 5000 10
oy Q2 huin 2000 20000 10
Ludyy 25091 Q2 hwuwn 2500 12500 5
Unnujtip Yujunih 4 hwun 3000 63000 21
Puwh thnpkynu QZ huwn 3000 36000 12
Fuwh hunpp QZ hwwn 3000 6000 2
Lwiyjuninu S 74 huiwn 1600 6400 4
MFEnhuk &nljudnp ”n
Unohlukp Q2 qnijq 5000 105000
Puitnpujut Ynohy 3
/punhulju/ QZ qnuq 7000 21000




NEnhuk jhuwdnljuynp

Yynohly Qz qnuq 4500 4500
Upuwhwgniuwn QZ hwwn 9000 54000 6
Ulpuw junigh Q2 huiwn 2500 15000 6
Sunbuwlwb wunhdwh QZ huwn 13000 13000 1
Yhuwunthtikp 08 qnyq 32000 32000 1
Yhuwunint yuplynid UuU huiwn 30000 30000 1
Qnpbdwplihs UuU huin 40000 40000 1
®hupkgnighsh tEnwdl 5
pwphl Ul huiin 20000 100000
UngUh Yuijungh 1
ukpnhpukph Ynduy Eln UU  |[hwijupwdnt 7000 7000
Unwigpulju) jhuwuptm | UG huiwn 16000 64000 i
Uhqpny SEN-15 UUE-90 Q2 Jhup 1300 130000/ 100
Lhwnny Qz, Ug 2000 84000| 42
"hq. 8nin M-10 G2K Q. {hup 1300 780000| 600
8nin MGE-46 B Q. {hup 1300 260000] 200
Unwligpwljuy 2308 Uu hwwn 3000 24000 8
Unwhgpuwljuy 7509 Uu hwwn 3500 7000 2
Unwhgpuljuy 7511 Uu hwwn 5000 10000 2
8ninh ynuy UU huwn 14000 14000 1
8ninh qunhs 2 QZ hunn 1300 5200 4
3nin Q’ hwwn 7200 43200 6
Thqbijught jnin Q2 1hwnp 1800 900000/ 500
Luwjnin /unjhnny, 50
wnwniun/ QZ g 2000 100000
Luwjnin Q2 g 1500 75000 50
8ninp pupdp Lupdwb >
wnuyy Q, hunn 11000 22000
Zhnpnpudwhwpuip (X80 Q2 huin 60000 120000 2
NkYh dquib /njuiqui/ Q2 huiwn 4000 16000 4
Uljwnnn 220*508 Q2 huwn 45000 90000 2
8nunh pupdp Lupdwh )
wnuyy LG-32 Q2 huitn 18000 18000

8ninh pwpdp Supdwmis 1
wnulyy LG-50 % hunn 20000 20000
Pwdwbwpunp {+-100 QZ huin 90000 180000 2
UYgnpnhsh wuwnjuh Q2 huin 60000 60000 1
Zhnpngyuib Q2  |hwjwpwséni| 90000 360000 4
Ukpnhp Q2 huitn 7000 14000 2
Utung gutiwly Qz hwwn 21250 85000 4
Uhung wplnn Ujunguon- .
dhunguniuin Q2  |hwjwpwdni| 21250 85000
Onlwhigdwt tnnithh .
wuwnjub Q2 hwwn 50000 50000

2nh hnjugdwb 1
hwdwlwupg /nunhwwnnp/ Q2 huwn 180000 180000




. |

Onfumigdwtt wnuhh 1
wwinjuil Q2 hun 100000 100000
Onpuwigdwt ninuhh quihs 5
T-150K Q2 hwwn 2000 4000
Snippnynupkunp Q’ hwwn 65000 130000 2
Zhnpngyub yu-125 Q’ hwwn 70000 70000 1
Ygnpnuwb uljujunuly >
T-150K QZ hun 22000 44000
Qnipwith junthh MLL-701 Q2 hwwn 7000 35000 5
Qnipuitih pl MLL-701 Qz huitn 16000 80000 s
Gnpwih Jugwl NLL- -
701 Q2 huiwn 35000 175000
Gnipwlih nuwownwht e
nwhinuly NLL-701 QZ hwuwn 1500 7500
Onjuwligdws ninithh 7
jjuwwule Q2 huwn 15000 15000
®snuh ukply Q, hurtn 1200 18000] 15
LEn judybp Q2 hwwn 1200 12000 10
30237111|Uwpwnlyjng /2UL-31029/ Y4 huin 45000 45000 1
39191200| NMwuwn /3U.Q-31029/ @2  |hwjwpwéni| 40000 40000 il
34351200|Utudunnny YUUUL Q2 hwn 75000 450000 6
NEYuwjht UEjuwthqd USe- q
34913000(82 Qz huiwn 180000 180000
34321130|Upgljuldwl juynnlw Q2 [hwdwpwén| 18000 18000 il
34321110/ Pnjuwbigdwl inuthh ghuly| Q2 hwin 8000 8000 :
Onpuwligdwt vinuthh 1
34321110y hvnw Q’ huwn 15000 15000
34321121|3ninh qunhy Q2 huinn 3500 7000 2
42511128|Onh qunhs Nissan X-TR-rail Q2 hun 5500 16500 :
42511128[Onh qunhs @UQ-2705 Q2 hurn 2000 6000 3
Onh quihs T-150K Q2 hwin 20000 | 20000 1
"thakih quaps Q2 hunn 8000 16000 2
HEynpny Q2 winuh 5500 | 99000 18
Eklwnpnn 1 Q. Uq 1200 | 12000 10
E kljinpnn 2 Q2 lg 1200 36000 30
Yhp wnugud Qz [V ! 300 39000 130
Ulnp 74 1huip 62000 186000 3
Snujuiq Q. 1hwnp 23000 345000 15
Quipuwnk Q2 1hwip 5000 200000 40
Puyy Eunint QZ liq 5500 165000 30
(tnnnuhl gn)n QZ, lig 6000 120000 20
Pnpnnjut ppwntnipng 100
/pnidulynie/ uu g 3000 300000
dhlugnli /pnidwynip/ 4 1hwp 10000 500000 50
Zkpphghn Q2 thuip 3000 300000 100
Uhowunwuwjw Q2 1hun 7000 105000 15
Utijuuuyul Q2 Uq 5000 50000 10




o) Q. g 500 50000 100
Obupuiljuti ppnt
/phuhwy bu dwpnip 6
24311114|H2504/ Qz 1thwip 1500 9000
24311116|2pwisth pinphn Q2 1hwup 800 4400 5,5
24311260 Lwwnphnith hhnpopuhn 4 g 1000 4000 4
Ununwlnuwjht 1
38411200|9kpuwsuith Ul hun 4200 4200
Onpdwinp ghpdwljuyni 200
33191310((18-20U) UU hwwn 110 77000
19642100 |wn hkphiEbwiht punubp| UG g 1300 45500 3
hnnupiwnunipy Uu lig 70 56000 800
wuniywluwiht ukjhnpu UU wuply 9000 18000 2
uUnipuiohqui- uljniqu Uu nntth 45000 180000 4
33691163|wquip-wqun Uu g 35000 | 105000 3
15551800 {wipinnpnodwt oh&nijubp [ UT wintth 38000 152000 4
9221200| Mwpubhyd UU wintth 19000 57000 3
uwhiwurnqu (phuhwljub 8
24321610{dwpnip) Uu g 6000 48000
24000000 |wnkhithjuljut uughpunn UU thuip 1400 28000 20
Qnpw hEinuth Uu hwwn 785 94200 120
wnkfuthjuljut uyhpw 24 1hwnp 1400 7000 5
[Thqnpght 94 lq 48000 24000 0,5
Uudnthuly Q2 thwp 1200 2400 2
Qjnilng 74 g 2000 1000 0,5
Luiljuing Q2 lig 2000 1000 0,5
Uwjuwpng QZ lig 8000 8000 1
Luguuwppent Q2 1hwp 1000 2000 2
Ghpulph wn /phphuytu ]
15872700|dwpnip NaCl/ Q2 liq 800 8000
Gkpwlyph wip Q2 liq 1000 15000 15
24000000|Ephy uuhpun Q2 L 2000 | 60000 30
24000000| thkphy bphp Q, 1 5000 15000 3
24000000 Ugkinnia Q2 I 1200 13200 11
24000000| thukphy $npuuidhn Q2 | 3000 6000 2
Unuppnt /phuhuybu c
24000000|dwpnip/ QZ thuip 1000 5000
24000000|2tpuuilt Q2 1 2100 10500 5
24000000|Ywiuhjunplikp 4 wnntth 250 2500 10
24000000 Uhjntdng Q2 wnnith 60000 60000 1
15991700|Shjinph poinp Qz g 3200 48000 15
2nh gninpohwighinn uwpp UlU huin 45000 45000 1
33691163|Eunn wquip Q. g 55000 | 55000 1
33691163|MRS wquip A lig 60500 60500 1
33691163|MRS wpquitutly Q. lig 60500 | 60500 1
33691163 |Utiqwipuip wqup Qz liq 55000 55000 1
33691163|Upnitiwghtt wquiph hhup Qz liq 55000 55000 1
Uhewduyp Helicobacter .
pilori-h w&kgduwl hwdwp 2 24 g 105600 | 105600




Ptpphiuninp wquip Yund

33691163 |wiquip-uiqun Q2 liq 38500 38500
Uuinndwwn yhubwntkp, 4
sampler Y4 huin 27500 110000
Uwipbuputiuut
wubntkp wwppkp 3
swypkpny Q2 hurn 4000 12000
Juwljnuluyhe
thnpdwiinplbp jupdhp 5
(Uwpnnt wppnih
33191310|dkpgubkynt hudwp) Q2 wnnuh 5500 27500
Juwlyniduhte
thnpdwnplbp uyhwnwy e
(Uwpnnt mpjnih
33191310|ytpgubjnt hudwnp) 4 wnntth 5500 27500
42910000|2ph pnpdwi uwpp Q2 huwn 302000 | 302000 1
42941160|FEpununnun Q. hwiun 215000 | 215000 1
Lhnbhihquuuinp Qq/ huwn 4020000 | 4020000 1
38431430(fFwthwhunhs QZ, huwn 1785000 | 1785000 1
Ghhuwinfunwbgmpyub .
Juphtkwn 4 huwwn 2750000 | 2750000
33191110[Udjuinnlyjuy] Q. hwn 930000 | 930000 1
Uwlpunhunwl Q2 huwn 250000 | 500000 2
Ypnuinyh wywpun Q2 huwn 250000 | 250000 1
U&h jupquuynphslikp
/winipuh, ghphpkiht, 6
24451130|yhukinhl / UU wnnuth 18000 108000
Upnudhtik tnnwypuljiip es
Julnidught Uu hunn 145 116000
33141117 | Pulpuly UU lig 2500 7500 3
[Buiuighy UU thuiphpe 240 19200 80
Puiighy -1 Q. Uknp 200 11200 56
FPudpuly-1 4 huin 300 4500 15
Fhuwn 10U Q2 huin 300 3000 10
Ugnuuljuib ppnt 8
24000000|(phuhwyku dwpnip) Q2 1hwp 800 6400
Yuhnwdh unppuin Q2 lig 3500 17500 5
24000000{ 9w hnidh hhnpopuhn Q2 g 1300 5200 4
24000000|Uunthnudh hhnpopuhp QZ 1hwnp 1200 3600 3
24000000|Uunuhniuh unyybun Q2 lg 1500 45000 30
24000000 Unnupniuh Yuppntiwin Q7 g 2500 7500 3
fuguiluwppyuyhi 10
24000000|wUnthnid /CHCOONH4/ Q2 4q 2500 25000
24000000 Updwph thupuwn AgNO3 | Q2 lig 400000 | 40000 0,1
dhpuwtiw) PH Utinphugh ;
hudwp Q2 wnnuth 5000 10000
Curunhy wynulhik 20 oE
nknuiing Ul hwwn 1600 40000
Uhypnuyhukwn (Medicine i
38431720|dropper) Uu hwwn 26000 26000




Uhljpnyhytwnh

38431720|5wjpwluyukip, 2.0 Ul UuU thwphkp 8500 25500 ;
33141129|Chsmnwljutt ghuwy Uu huin 450 9000 20
Nywundwul nuppuiikp Uu hwwn 2600 31200 12
Ewh dljpuin Q2 hun 2500 5000 2
44171400[$njqui U, thwphp 2000 20000 10
Lmudhuhghtnw)ht
(udutin 147ud-80BT 20
31521430|(hwjwpwbnu) Uuu hunn 3500 70000
31521210| Lty judwkip E27, 15BT UU hwin 1900 47500 25
Ljnulhthghtinwghy
Jwduykp 120ud-40BT 20
31521430|(hwdwpwdnt) Uu huin 3000 60000
31510000|ty. juduykp Q2 hwwn 1500 9000 6
31510000|h. judwkp QZ huiwn 100 5000 50
44300000|hnuwliph jup 2x2.5 UU u 160 24000 150
Uwnihu wnudk 2.5 Ud
60
31331280|pun. Y4 u 300 18000
Uuwnipn U4 IS 4x35 Q. u 1500 450000 300
ElEyunpuhwunnpnuljuiing
pynLl suthnn uwpp 1
Uwplul PSC-154TDS, ES/ Y hun 200000 | 200000
HEjunpujut
Epljupugdwi jwip /3d b 2
31685000(5u/ Qz hwiwn 1800 3600
Enul Q2 hunn 3500 70000 20
Cnuth yny 1 Q2 huin 1500 12000 8
Gnuilih wny 2 QZ hunn 700 10500 15
Yunpnn ujudwunul Q2 huin 1000 10000 10
Ukwnwnujup 1 QZ g 750 3750 5
Ubkinunuyup 2 Q2 ljq 750 3750 5
Uhju 1 Q2 lg 800 4000 5
Ubfu 2 Q2 lig 800 800 1
Utju 3 Q. g 1400 4200 3
44163170|(Fhnhitk junnniuily UU, u 450 22500 50
44163170|knhuk junnndwl 3/4 Q2 dtnp 500 10000 20
39224330|nny] wiwundwub Q2 huwn 600 6000 10
39224330|nn1)) ghtljwuyjwwn Q2 hwwn 1800 27000 15
39224332|nn1yp Q2 huwn 1500 6000 4
34921440|Unpuduill, wjwundwuk Q2 huwn 600 6000 10
0,5 oh2 pwtih b jwph 16
hwdwp Ul hwunn 40,2 40200
wjwuwnhl fugut Uk Uu huin 6 6000 1000
01 ppywubkph pwdwly Uu huin 10,5 52500 5000
045 ppyuubph puduly UU  |hujupwént 39 195000 5000
39831240|Lywgnn dwppnn Wntpbp UU  |[hwjwpwdni| 41000 41000 1
Uyntlq 2ud 5
/1000x2000uu/ Q2 huin 3000 6000
Udwl jJutiunt uynilig Q2 hwn 350 21000 60
Juintunhly unnu Q2 wupl 20000 100000 5




pinpulhp Q2 wwnl 1000 3000 3
33711480|O&wn htnniyy Q2 hwwn 650 3900 6
33711480|O&wn munbkuwmljult Q2 huwn 260 3900 15
44111200|8kukin Q’ wupl 3150 31500 10
24951130[Uhyhlynt Q2 huin 1200 2400 2
44111410[Utnly Q2 hurtn 5800 | 17400 3
42131100|Ihiwnfy Q2 hurtn 4500 9000 2
44511200|Unng dknph QZ hwwn 2000 4000 2

Eunyuhw Q2 g 1300 2600 2

Qbnung pdolymljui .

dhwquudjwu Q2 hwwn 550 4400

2hEnlng gnnnnh QZ hwwn 1500 2

Qtnung 1 UU qnijq 300 3600 12
18421130|Qtnung 2 Q7 qnijq 400 7200 18

2tnting fikjwphlh Q2 qnygq 1500 1500 1

Qtinung pwhynpuljut 1 Qz qnuig 400 16000 40

Qbtnung pwhynpuljub 2 Qz gniq 250 42500 170
31684400[Jwipnul Uu huitn 700 15400 22

fupnguily QZ hwwn 300 9000 30

Yuipnn puip Q2 huiwn 5000 5000 1

Upwpup 75 Ud /itnnghinh .

pup/ Q2 huwn 18000 18000

Pnjquplw Q2 hwwn 2500 2500 1

Pnjqupluih pup QZ, hwwn 1200 18000 15
39831247 |luguinudp pugnn hknmily Q2 hwwn 550 1650 3
44521170|9uunyh Ynhuuytip Q2 huin 2500 2500 1
39221410 Ul q’ hwwn 1000 40000 40

Qnquphuly Q. huin 200 2000 10
39221410|Udt gnquphwlh hkwn QZ huiwn 1500 6000 4
39714100|Onwthnhuhs Y4 huin 550 3850 7

Bninpe odubtip 60x84x70 4000

q/pu Q2 bg 700 | 2800000

Pninp odpukip 70x100x120 155

q/pu Q. liq 700 105000

Pninp odpukip 60x84x80 .

q/pd Q2 g 700 350000

Pninp odukpe 70x100x80 =

q/pu Q2 g 700 39200

Pninp huptwljusnih T

70x100x80 q/pu Q.2 hwwn 225 45000

Pnigpe Juydwujwn 250

64x90x130 g/pu Q. Ug 780 195000

PFnup jujduywn B0

64x90x200 q/pu Q2 g 780 39000

PFoinpe juydwuun 1000

64x90x90 g/pu QL liq 780 780000

Fnnp juyduyun 100

64x90x300 q/pu Q2 Uq 780 78000

Pnup Juydwujwn 50

70x100x250 q/pu Q2 g 780 39000




Uunyjwpwpnine 1100-1200 56
q/pu Q2 hwuwn 667 200100
Swuigpuljuih ukplykp logo =
3000 process coloures Q2 g 5000 75000
‘Uknly GR HD (S 3770) Qz huwn 17000 340000 20
Uwuwnkp GR HD A3 (S ' 5
3770) QZ hwwn 40500 202500
Mnihdbpuyht unuhud -
MU Q2 lig 1666,67 | 33333,
Ubkwnwnujup 0,06-08 Q2 hwwn 5833,33 | 11666,66 2
dhlhjuyun pop 0
(poitfhithy) Qz, d 1166,67 | 350001
Syuwgpuljuit $npdw 500
495x370x0,15 Uu QZ hwwn 508,33 254165
Sywqpuljut $npdw )
650x530x0,30 Uu Qz hwiwn 1125 562500
Qtpdwunuhlid A Ve 3330 33300 10
Odublip muugqpuijut d
ntnhl «kndhtiwiny Q2 huwn 28000 28000
Odukp nyugpuiljui 1
nhnhl «bndwnp» Q2 hwiwn 22500 22500
Odubip gnpéywsp :
«knUhuwliny Q2  |hwjupwéni| 3500 3500
Odukp qnpdywmsdp 1
«knduynp» Q2  |hwjupwdni| 23000 23000
Jhiun] Q, Jhup 4500 18000 4
OF JUGUANG DEVELOPING
POWDER (kpluljnn 5
htinniy) 4 1hwp 3000 15000
Qnuih Q2 {hup 3900 7800 2
HP 87/90 Q2 {hwp 3500 52500 15
WHITE PLATE CLEANER 3
(Uwuppnn hknnil) 4 thup 3750 11250
HPL-WASH (jJwugnr s
htnndy) Q. pwp | 1833,33 | 54999,9
El Temirteme kreme 4
(Uwippnn dwdnily) 4 thwp 4500 18000
Mhpguuklin 420x300x90 7
q/pu Q2 wnnith 18333,33 | 73333,32
DELETION PENS (dwppnn >
dwinhwn) Q2 hwiwn 2083,34 | 4166,68
Jupsunnbuwljub nhywpnudkiinh yhn-
ypnnkljnnp N.U.EdLuryul
QG uwynp hwpjuywh > . +~—0.U.Pun]him
Qunudutph b nipunkthjulwh dunwuljupupdui
pwduh Juiphy 2. U.2untnjub




